Atomic Number and Mass Number 2
Fill in the gaps for each type of atom. The first one has been done for you. Remember:

Atomic Number = Number of Protons 
Mass Number = Number of Protons + Number of Neutrons


Atomic number: ___11____
Mass number: ___23____

Number of protons: ___11____
Number of neutrons: ___12___

Number of electrons: ___11____
Arrangement of electrons: __2, 8, 1__


Atomic number: ________
Mass number: ________

Number of protons: ________
Number of neutrons: ________

Number of electrons: ________
Arrangement of electrons: ________


Atomic number: ________
Mass number: ________

Number of protons: ________
Number of neutrons: ________

Number of electrons: ________



Atomic number: ________
Mass number: ________

Number of protons: ________
Number of neutrons: ________

Number of electrons: ________



Atomic number: ________
Mass number: ________

Number of protons: ________
Number of neutrons: ________

Number of electrons: ________



Atomic number: ________
Mass number: ________

Number of protons: ________
Number of neutrons: ________

Number of electrons: ________



Atomic number: ________
Mass number: ________

Number of protons: ________
Number of neutrons: ________

Number of electrons: ________
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